DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
11NPCB09 Class : XII
NEET PRACTICE QUESTIONS Time: 1.15 hrs
(2023-24) (TEST-9) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. The radius of earth is reduced by 4%. The
mass of the earth remains unchanged. What
will be the change in escape velocity

A) Increased by 6%
B) Decreased by 8%
C) Increased by 2%

D) Decreased by 4%

LellulledT <UD 4% GeOm&HELILOSHMS!.
LieNulledr mlemm WTMITOEY 2 _6TEMS! 6T6ot160
QLB HensGaus MmILIT(H 6T60T60T?

A) 6% 2_WHHMS!

B) 8% GemM&H MG

Q) 2% 2 WmHHMma!

D) 4% &M & MG

2. The potential energy if a rock, having mass m
and rotating at a height of 3.2 x 10° m from the
earth surface, is

A) -6 mgR,
B) —0.33 mgR,
C) —0.67 mgR,

D) -0.99 mgR,

Hellullesr GLmurLitiey 3.2 x 106 m 2_W &S0
FLOVID m Blemm 2 emLW @h Lmenmuileor
Bl606v 24DV

A) -6 mgR,
B) -0.33 mgR,
C)-0.67 mgR,

D) -0.99 mgR,

3. If the earth were to rotates faster than its
present speed, the weigh of an object will

A) Remain unchanged at the equator but
increase at the poles

B) Decreases at the equator but remains
unchanged at the poles

C) Remain unchanged at the equator but
decrease at the poles

D) Increase at the equator but remain
unchanged at the poles

Ll 95T HFMHCUTMSW Galsmsems ol
H&H GCausSHe SLOIINTETTE, 6@
QuUITHerfledT eTemIL

A) B euem T LGS Wl6L LDMMITLD6L @) (HE G LD
QL60TIT6L Sl(HeUMBIGETl6L 9FH &6 G0

B) BT LGS UI6); G6mMULD 46076V
Sl(BeUmIGeTlev IDMMITIN6 @) (H& LD
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Q) B eUemT LGS UI6L LDTMITLO6L @) (HE G LD
SL60TIT6L Sl(HeUMISETI6L GHemMmULD

D) bheueny UGS, A &HEGID
QLEOTITEL  SI(HeUmIG6Tlev  DMMITLO6Y
QBGSGLD

4. Assume that the acceleration due to gravity
on the surface of the moon is 0.2 times the
acceleration due to gravity on the surface of
the earth. If Re is the maximum range of a
projectile on the earth’s surface, what is the
maximum range on the surface of the moon
for the same velocity of projection

A) 0.2R

B) 2R,

C)5Re

D) 0.5 Re
Blevalleor  Gumurlitlev el  FHLILY
Wh&sWmeral Leluler GumurLliLiseTer

Lell Fily wh&Ess5mE il 0.2 L0LBIG
6TedT  &H(HEICeumd. Lelluler CmuFLILiley

T QUM erfl eor QUL QBH &L
Re eTeofleb  mlevalledr  GLOMLIFLILI6
6% Bt F G655 T 6V Tl L
eTMQUTB6T 60T QUIHLD QB H & 5D 6T60T6oT?

A) 0.2Rg

B) 2Re

Q) 5Re

D) 0.5 Rg

5. The period of moon’s rotation around the earth
1s nearly 29 days. If moon’s mass were 2-fold
its present value and all other things remain
unchanged, the period of moon’s rotation
would be nearly

A) 29 days
B) 29 x 2 days
C) 29/V2 days

D) 2942 days

HellemwsdF &mnlel@d  Blevalledr &mHmis
&HMEVLD FMEGEMMU 29 BITL_&6T Q@& LD. LDMHM
STgetl&Hefley  6Thg  MHMULOLIEVEVITLOEY;
Blevelledt Blemm SHCUMTMHSW G160
L 2 WLLMBIG AHSLMeTTey  Blevedleor
FMHMIGHETEVLD FME &6 MU

A) 29 BITL&6T
B) 29 x 2 BTL_&6IT
C) 29/72 BITL eI

D) 29V2 BITL_&6IT

6. The maximum and minimum distances of a
comet from the sun are 8 x 10> m and 1.6 x
10'> m. If its velocity when nearest to the sun
is 60 ms!, what will be its velocity in ms!
when it is farthest.

A) 60 B) 6

C) 12 D) 112

& lwelellGha @ e HL&FSS 78S 6o
SHGLLF I0MMID GOMBHSLILF SHITTHIG6T
8 x 10" m MM 16 x 10?7 m 9 GLD.
G5 @ L& 2(H T 6L 2_6T6IT GLIMS) ] & 60T
FlemFBalsd 60 ms' 6Tl QG MTemnevailey
2 6T GLIMEI 25607 HenFGeussd ms™ @6V

A) 60 B) 6

12 D) 112

7. A research satellite of mass 200 kg circles the
earth in an orbit of radius 3R /2 where R is
the radius of the earth. Assuming gravitational
pull on a mass of 1 kg on the earth’s surface to
be 10 N, the pull on the satellite will be

A) 889N B) 890 N

C) 892N D) 885 N

200 kg BlemmMU]6MLLLI 62([H G &F UM 60 & &G IT6T
Hellemw 3R/2 6TedTm SbJRemLW  SmHaiLl
uremsuiley s&oml uGHMmE. @mE& R
eTeoTLIE Lellulledr <urb <&, Ledlullesr
GMmUILLlev 2 6Tem s 1kg mlemmU6TET
Qum@erflest W& FILIL ellem&emul 10 N eT6or
HHB 6TV QFWMmensd Gamerfledr LIS meoT
FILIL ellem&
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A) 889 N B) 890 N

C) 892 N D) 885 N

8. The angular momentum (L) of earth revolving
round the sun in circular orbit is proportional
to ", where r" is the orbital radius of the earth.
The value of n is

A)2 B) I

C)1/2 D)-1/2
Glwemners aul L LI LUmemguiley &mml au(pLd
Lelluflest Gamevor 2 bHmers (L), M-&&
CBHI&HEH6V 2 6TeTgl. @ MG r eTeoTLIG! Led
FOHmILI LUmengulledt QLD eteoflev rm @60t
G

A) 2 B) 1

Q) 1/2 D) -1/2

9. An infinite number of particles each of mass 3
kg are placed on the positive x — axis at I m,
2m 4m, 8m, ....... from the origin. The
magnitude of the resultant gravitational force
on mass 3 kg kept at the origin is

A)4G B)12G

C)12/5G D)6G
61GaUMTETMID 3 kg Bl60MU|EITET 6T600T600T (DM
SIGaTEHET GBIWemm X FFT S
LjeTerflug e p b &1 1m, 2m, 4m, 8m.......
Qamemevallel  emaUSS&LILIL (H6TeTer. o5
Liemerfludley emeudssLiLIl L 3 kg BlemmueTer
SIGerfleor g FFyLIL 63160y & Ul 60T G\ &5 IT(&5 LI LI 65T
LG ILIMTeoTS.

A) 4G B)12G

012/5G D)6G

10. During motion if a man from equator to pole
of earth, his weight will (neglect the effect of
change in the radius) (given Ro? =0.033ms?)

A) Decrease by 0.52%

B) Decrease by 0.34%

C) Increase by 0.52%

D) Increase by 0.34%

pOemT  USHUINGHs  yeiluiler
SMHUSSHS R LISHET @) WHIGISTS
HHBETMTL eUeTEH 6Tl (QTHH6V
UG WIOHMEHMS LiM&860018856]0
GLaILD Rw? = 0.033 ms?)

A) 0.52% GenmH M
B) 0.34% GO DI M
Q) 0.52% P& &R DS

D) 0.34% 915 & fl&HRma

11. Three masses each of mass m are placed at
the vertices of an equilateral triangle ABC of
side L as shown in figure. The force acting
on a mass 2m placed at the centroid O of the
triangle is

L BempeTer &FOUSHS (N&HCSMeoord  ABC
QR6TMIET  (LNEM6TEETI60. REUGIAIMETMIND m
15160 (DU 6ITEIT [B160) M &6 606U & &5 LILIL (h 6iT6T6oT
6Tl (NGHBHMTEOTEHH60T  emLDWILIL| 66N
O-all6v emeugsLILULR6Tem 2m  Bleoymulledr
S5a1 QFwWeLLIBID ellens
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A) 142
B) 1/4
Q) 1/2

D)0

12. A body weighs 250 N on the surface of the
earth. How much will it weigh half way down
to the center of the earth.

A) 125N
B) 250 N
C) 150N

D) 175N

widluflesr Gumurlitiev @  QuImerfleor
6160y 250N 6T60116L Li, LA U9 60T 600 LD U1 &5 60l (B H Sl
UTEH  Qsmeneveilley HGC  IFH6T  6TevL
6TEURIETAIMS @) (H& S LD.

A) 125 N

B) 250 N

C) 150 N

D) 175 N

13. The escape velocity of 10g body from the
earth is 11.2 kms™. Ignoring air resistance,
the escape velocity of 10 kg of the iron ball
from the earth will be

A) 0.56 kms™!
B) 0.0112 kms™!
C)0.112 kms™!

D) 11.2 kms™!

LpLiludlev 109 Qumperflesr QI
FemsGeausd  11.2kms! QL&D STt
SO  LM&EH0H&ELLULSHES 616016V
LOuNedl @bl 10 kg @GLOL LS 6T mleor
G U® HensGeussid

A) 0.56 kms™

B) 0.0112 kms™

€) 0.112 kms™

D) 11.2 kms™

14. Radius of earth is 6400 km and that of mars is
3200 km. Mass of mars is 0.1 that of earth’s
mass. Then the acceleration due to gravity on
mars is nearly.

A)2.5ms?
B) 5 ms™
C) 1 ms™?
D)4 ms™

Lu LBl U 60T @y, 7LD 6400 km LOMMILD Q& 616U Ul 60T
QLD 3200 km 9L@&LD. QF6ueITUleT Bleom
dlulesr mlemmuiev 0.1 LOLMIG eT6ofley
QEFauaTUl ByssHer Lall FILIL whH &SI
IS

A) 2.5 ms™
B) 5 ms=
C) 1 ms=
D) 4 ms™
15. The ratio of escape velocity at earth v_ to the

escape velocity at a planet v, whose radius
and mean density are twice as that of earth is

A)l:2 B)1:4

C)1:2\2 D) 1:\2

LuLAlud6oT QLD LD MILD FrmEf] 9L FHS5 emul
il 2 IDLTBIE 2_6m LW 6p(H Gasmerflev L, ilulev
Ou®B HengGeausd v, HMILD @& merledr
AEU® HosFCasd v &G QeLGWw

9 66T $56)
A)1:2 B)1:4
Q) 1:2\2 D)1:\2
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| CHEMISTRY Q.No. 16 to 30 |

16. The correct IUPAC name of the following
compound is

A) 2-methyl-5-nitro-1-chlorobenzene
B) 3-chloro-1-methyl-1-nitrobenene
C) 2-chloro-1-methyl-4-nitrobenzene

D) 5-chloro-4-methyl-1-nitrobenzene

Gnsseul SFnFCHFIGH 6T  &iflwimer
IUPAC Quiwliy

A) 2-QDEH 6 -5-BLCIm —1-GCeTT G
@\ LI60T S 60T

B) 3-@&CemmCr T —1-QSEH6v —1-emBL BT
G167 & 60T

Q) 2-GCemmCrM-1-Q 0 & & V-4—emn B L G
QLI 6oT & 60T

D) 5-&GemmBImM-4-Q L0 & &H 6v-1-6n B L CF T
@\ LI 60T & 60T

17. The number of stereoisomers obtained by?
A)1l B)2
05 D)6

19 gmeoTery —2-LNw,l leemenr L GTmIGermmLd
QWL GCums HoLESGWL  LmGeler
LoDl Ul 185 erfl 60T 6T600T 60011 8560085

A) 1 B) 2

Q5 D)6

18. The number of isomers for the compound
with molecular formula C BrCIFI is
A)3 B) 4

Q)5 D)6

C,BrCIFI epevsgnmi eumiiiim® @& meoorL

GF ST sVl6iTerT LO T ) UL 151 85 6rf | 60T
6T600T 60011 8560 &5

A) 3 B) 4

Q5 D) 6

19. Which of the following compounds will
exhibit geometrical isomerism?

A) 1-phenyl-2-butene
B) 3-phenyl-1-butene
C) 2-phenyl-1-butene
D) 1, 1-dipheyl-1-propene

GLp&HeoTL . GFILOMIGET 618l
roMlwgens QealefliudsHEin

QL6

A) 1-19.6060T6V—2~L N WL L L@ 60T
B) 3-LilemeorevL—1-L9 Wy, L Ie6dT
C) 2-L9emeor6v—1-L9 Wl L L@ 60T

D) 1,1-emLLTemeor6v—1-L Gy LiLTedT

20. Which of the following will have least
hindered rotation about carbon — carbon
bond?

A) Ethane
B) Ethylene
C) Acetylene

D) Hexachloroethane

STTUGT-STTL6T Nemeoorlienll QUMTMISS
Wl  BpHEHeoTL. (TFCFFLOSH
FLD6V6U S M) & 60T FemL GMbHSI
S meoor IS M S1?

A) iF &G g 60T

B) 675 &6060T

Q) AP 1965607

D) Qam&FmT&GCermErm iF&G& 60T
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21. The compound which is not isomeric with
dicathlether is

A) n-propyl methyl ether
B) butan-1-ol

C) 2-methyl propan-2-ol
D) butanone

ML  a5H6  FHGLET  WLIHPlLUSmS
QeueflILRSSTEH GFFLOLD 6TSI1?

A) n-LGrmLiemLIeL QOEH 6V &I
B) LMW, L_63T —1-34,605ammev
Q) 2-Q&H 6L LIGTTLILIGT-2-31,60

D) LYwy,L_L_GeoTmedT

22.25g of an unknown hydrocarbon upon
burning produces 88g of CO, and 9g of H,O
This unknown hydrocarbon contains

A) 20g of carbon and 5g of hydrogen
B) 22g of carbon and 3g of hydrogen
C) 24g of carbon and 1g of hydrogen

D) 18g of carbon and 7g of hydrogen

25 GImh emaml CrmamyLemeT 6 flé @D
Guma!l 88 & Wwmmh OC, MM 9% H,0
SHHMG. eTevilev 9H& ML G L6 16y
2 6Temgl .

A) 20 &) S&MTTUET LDMHMID 5 &) emamL_[eg360r
B) 22 & &TFLIGT LDMHMILD 3 &) e [7e260T
Q) 24 &) &THL6T InMHMILD 1 & emam L 78607

D) 18 &) &MILET LnMHMID 7 &) 6L [Jeg360T

23. An organic compound is estimated through
Dumas method and was found to evolved 6
moles of CO,, 4 moles of H,O and 1 mole of
nitrogen gas. The formula of the compound
is

A)CHN

B) C_ ,HN

C) C12H8N2

D) C HN,
Gur wampule @@ &g CFISmS
SleThMOWID GUTS 6 GMEL&ET CO, 4
GLDMeL&s 6T H,O Lo MILD 1 GLOIT6Y 60)[BL[J 83601607
SHHDS! eT6nfl6v S| EFCF TGS 60T
eumuLum®

A)CHN

B) C_ ,HN

C) C12H8N2

D) C H,N,

24. A gaseous hydrocarbon gives upon
combustion 0.72g of water and 3.08 g to CO,,.
The empirical formula of the hydrocarbon is

A)CH,

B) C,H,

C) CH,

D) C H,
eI mlemevwilaieTeT enamL CIT &I LI60) 60T
el Gumsl 0.72 & B WwmHmib 3.08 &
CO, 8 HMHHME! 6T6vflev 60T eTer I GG
eumuIum(

A)CH,

B) C,H,

C) CH,

D) C.H,

25. Which of the following hydrocarbons has the
lowest dipole moment?

A) Cis — 2 — butene

B) 2 — butyne
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C) 1 — butyne

D)H,C=CH-C=CH
LD &> G5 600TL emamL_CITaITHLI6Ts6rfleu
5DS GSMDHS QMUTHGLILS Slmedt
&L Q& TevoTL Sl

A) Fler-2-19ul L 1e 60T

B) 2-L91ul,L 6™ L_60T

Q) -9, 6™ 6T

D)H,C=CH-C=CH
26. Among the following compounds, strongest

A)H-C=C-H

B) C H,

C)CH,

D) CH,OH

BLD&HHe0oTL. CFTLOMIGETI6L 6uedlen & HS
Iblevld 615I1?

A)H-C=C-H
B) C H,

C) CH,

D) CH,OH

27. The hybridisation of carbon atoms in ¢ — ¢
single bord H-C=C - CH =CH, is

A) sp® — sp?

B) sp* —sp’

C) sp —sp’

D) sp* —sp
LD 8> 600TL &ifling
GF IS T aVl6iTerT &ITITLIGOT-& T[T LI60T

el NeneoriifeeTer @ eoTd&euLlL]
wenmGEul

A) sp’ —sp’
B) sp? — sp*
C) sp —sp’
D) sp’ —sp

28. The number of sigma and Pi-bonds in
1-butene-3-yne are

A) 506, 5
B) 70, 3®
C) 8o, 21
D) 60, 4n

1-L9 W, L 1@ 60T ~3-8260T 6T60TM & I L0 & G &F T LD & B) 6V
2 a6 Lilevy6vor LiL| S 6rfl60T 6T6v0T6001 18560085

A) 50, 5w
B) 70, 3w
C) 8o, 21

D) 60, 4n

29. The bond between carbon atom (1) and carbon
atom (2) in compound N = C — CH = CH, involves
the hybridisation as b
A) sp? and sp?
B) sp® and sp
C) sp and sp?
D) sp and sp
N=C-CH=CH, eteorm &fllnF GCargHlev
1 2

9 6T6m &SMILIET el (1) IMMID &ITTLI6OT
9| 650 ) @e6eummlev &meoorLILI(BILD
@\60TE &6V .

A) sp? and sp?

B) sp® and sp
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C) sp and sp?

D) sp and sp

30. Among the following, the strongest base is
A) CHNH,
B) P-NO,C . H,NH,
C) m-NO,-C H,-NH,
D) CH.CH)NH,

ELeée:eul &fling  Coymseafle)  eal
aledlenn & HS ST

A) C,H,NH,
B) P-NO,C,H,NH,
C) m-NO,-C, H,-NH,

D) C,H,CH,NH,

BIOLOGY (BOTANY) Q.No. 31 to 45

31. Assertion (A) : Interkinesis is the stage
between the two meiotic division.

Reason (R) : Interkinesis is short lived and
DNA replication takes place during this
phase.

A) A and R true and R is correct explanation
for A.

B) A and R true and R is incorrect explanation
for A

C) Ais true and R is false

D) A and R false

Famm : @uevor(h WwWmHev UGUINS
@emLGuw MBS 6(IH Bl6m6v
LG emL 88 mevld eTeorLILI(HILD.

SITTeOTLD: LUGLILNemL&8MeVlD @) SmnI&H W
&MeVld  WMmMIh DNA  @ILIQLILIENL &6V
QbS5 &TeVEHT 6V HE0LQLIMIG M.

A) FaHmI LDHMILD SITF6eorld @ revor(MD &ifl.
SITTEOTLD FaMMIM @G Fiflwimeor alemd &0
SOHH DG

B) SmMmI LDMMILD &ITJ6vorLD @) Tevor(HLD &ifl.
SHITJ6eoor LD Fo MM H & SFiflulmeot ellemd &0
Srallevenev.

Q) oMMl &Ifl. &MTIeooTD SHeuml.

D) oMM LOMMILD &HTFeoord @) gevor(hLD
SHeUmI.

32. Match the following:
(1) Diakinesis — (a) May last for years

(1) Diplotene — (b) Condensation of
Chromosomes

(i11) Zygotene — (c) Nucleolus disappear

(1v) Leptotene — (d) formation of synaptonemal

complex
@ @) (i) (iv)
A ¢ b d
B) b a d c
C) a c d b
D) ¢ a d b
QUITHS S 5.

(i) LWImen & eor&len - (a) Flev 2y,600T(H 56T eU6em [T
B9 & 860D

(i) Q. LIGeTmIesdT — (b) GGFMELOMEF MLD& 6T

FHRIR &
GNISHTM I
(iii) MEFSHCSHTLLLET — (c) Blw,&6rflGulmeverv
LemMHMSI.
(iv) QeVLIGLITLe6dT — (d) FeormLIGL mevfln6y
QETG&LIL
2 (HUTHMS!
(i) (i) @iy (iv)
A C a b d
B) b a d C
Q) a C d b
D) C a d b
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33. Find out the correct statements about
recombinase

(1) This enzyme helps in recombination during
pachytene stage

(11) This enzyme helps in crossing over during
zygotene stage.

(ii1) This enzyme helps in formation of bivalent
during Zygotene stage

(1iv) This enzyme helps in formation of chiasmata
during diplotene stage

A) (1), (iid), (iv)
B) (i) & (iii) only
C) (ii) only

D) (i) only

fla L Georeiv G665 Frflulmeor

Fo. D MIG6M6TE & 600T Ll Ui LD

(i) @bs QBTH UTHEHICET  HBleneuiey
ISeTGFIHMSEHEHG 256 PMI.

(i) @b% QBMTH MFHEHTLICET Hlemevuiey
GQ&CHHMEH DG 2 HeUH M.

(i) @S QBTH MEFHEHTLICET Blemevuiev

60) LI 6) M6V 600T L 2 (HUTEHSEH DS
2 5e|EMal.

(iv) @b QBTSH 1QLIGML LT  Blemevuilev
SWIMerVGLOL_LIT 2 (HUMSHHSH MG
2 &M

A) (i), Gii), (iv)
B) (i) & (iii) LOL_(RILD
Q) (ii) L (BILD

D) (i) L (HID

34. Find out the correct pair:

A) Cell Plate
formation — Multinucleate condition

B) Absences of
cytokinesis — Furrow joins in the center

C) Cytokinesis
in animal cell — Represents middle lamella

D) Cytokinesis
in Plant cell — Starts from center of
the cell

SHEUMITEOT ©)60)600T60ILIS &5600T L MILIGLD

A) QF6 SL_(H 2_(HEUTH6V — LI6V
Blemy6v

2 L&

B) 600 & L_GL_T60) 55 60T Fl 6N
@ 6Lemev - Qauerfluflev Gamedrlul
LIeITerTLD @_6T@err
@ TR M.
0) ellevm @& QFev&Herflev
&L CLIT6t) 85 60T T 61V
—- DS L1 60)60TdH
GM&EH M
D) HTaIIE GFeva6rflev
& L_GLT60) 85 60T F 610
— Q& 6v6l 6T
amWLLUGH ullev
QEHMTLBIGHMSI.

35. Chromosome morphology can be studied
clearly in the stage

A) Prophase
B) Metaphase
C) Anaphase

D) Telophase

SCrmGLMGF mLlledr LM SlemLDLI6EmLI
Blemevwlley QG efleurs HMHos

@ uWIsILD

A) LG m&GLI6n
B) QILOL_L_M&GLi6n
C) QeoTmGLI6N

D) le@eumeGLi6
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36. Assertion (A): G, Phase is inactive stage of
Cell cycle

Reason (R) : Growth ceased during this stage,
but metabolic activity takes place.

A) A and R true and R is correct explanation
for A.

B) A and R true and R is incorrect explanation
for A

C) Ais true and R is false

D) A and R false

o : G, Bleoey eTeiTLS GQFL&IOMHE
S| OFBlemev @G LD
SMJeoTdD:  @bB&S  Blemevuley — eueTFF&
S L LIOH MBI 60TV UETTHl6n S LDMMMLD
H60YL_ G LIMILD
A) Ea MMl LDMMILD S&TIeoorid @ revor(hb &ifl.
ST FaMMIM @& Fifluimeor elemgssLh
S5HH DG
B) o MMI LOMMILD SITI6orid @) Jevor(hild &Fifl.
&MTJ6eooT D Fa MMM G Fiflulmeor ellemgasL0n
sreilevemev.

Q) Samm! &FIfl. HITFEOOTLD H6UMI.

D) BamM LOMMID &TF6eoord @) Fevor(hLD
SHeuml.

37. Match the following:

(1) G, phase — (a) Replication of DNA take place
(i1) S phase — (b) No DNA replication

(iii) G, phase — (¢) Maturation Promotion Factor

(iv) G, phase — (d) reduced rate of Protein Synthesis

@ G ) aGv)

A) b a d c
B) a b d c
c d b c d
D) d b c a

QUITHSHSI&.

(i) G, Blemev —  (a) DNA @UL QLML S6V
HEMLQLMILD
(i) S Blemev —  (b) DNA @UL_1q LILI6D)L_&6V
HeOLGILIMMTSI
(i) G, Blemev - (0) HFFFRemW
216 & LLMGSHSID
G ITJ600T 1 56T
(iv) G, Blemev - (d) UTHFCFT&HMES
SOMHS 26reey
H60)L_ G LIMILD
(i) (i) (iii) (iv)
A b a d C
B) a b d C
g d b C d
D) d b C a

38. Find out the wrong statement(s):

(1) Kinetochores are small disc shaped structures
at the surface of the centromeres.

(i1) During Anaphase each chromosomes moves
away from equatorial plate.

(111) Reappearance of nucleolus and nuclear
envelope during telophase stage

(iv) Formation  of fibres

Metaphase.

spindle during

A) (iv) only

B) (iii) & (iv)

C) (i) & (iii)

D) (i) & (iv)

HEUMITEOT G M MI(FH60)6TE) 856007 LM LLIGLD.

i) &HeTLCLTCSHITH 6T6OT LIS
QEer_Grmullwifledr Goev &mevorIL(RILD
QL 6Ulg6l SeMOLILIMGLD

i) 36T M @Liendlev R6UQEUT(H

GCrmCLMBFMIPL  WSH N HHS!
SI([HEUMIGHEN6T GBHMTHS 85 & 60T M 60T,
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iii) lL GV MG LI Blemeuuiley
Bl &erflGuImeveiv LDMHMILD 2 L 8(H Fele
Sevor(H) LD CHTOTMIH M.

iv) BB TGSV @) 6mLP&H6IT Gl L TeGLIenlev
2 (HeUTHRMS.

A) (iv) only
B) (iif) & (iv)
Q) (i) & (i)
D) (i) & (iv)

39. Cell in G, phase:
A) terminate the cell cycle
B) Exit the cell cycle
C) Enter the cell cycle
D) Suspend the Cell cycle
G, Blemevullev 2 6TerT Q& 60 &s6iT
A) QF6L S&LoMHFlemU (LPIG.QMEF Q& UIWL]LD
B) Q&F6L &LoMmFemwl el (h QelerlGuImin
Q) Q&6 &FLPMFIUIN6L 2 6T HIEOILDU|LD

D) Q@&Fev &omFemw  Fnlal
SMHSHTE&HLNMS BlmIG SN

&ITeVLD

40. Assertion (A) : G, phase is also called anaphase,
as during this phase the cell stores ATP for cell
division.

Reason (R) : Cell produces structural and

functional proteins. Cell’s metabolic rate is high
and is controlled by the enzymes.

A) A and R true and R is correct explanation for A.

B) A and R true and R is incorrect explanation
for A

C) Ais true and R is false

D) A and R false

o : G, Dlemey 6eTMHELIEN  6T60TMILD
MP&ESLILIGSRMSI. @\bBlemevudl et
GuUMgl QFeLLIG LI M & meoT ATP
CrsflaasLIUQSR M.

&HTJ6eOOTID: QF) emNLIL] IOMMILD Q&FUI6V

L| T & 518560 61T 2 HUSH QEFEWRME.
QF6LEI EBIEM L LI Mausacalzol:s LDTMHM
AHsD HHD. AF  QBTHG&GET
&L\ LU0 8 &1 9 60T M 60T

A) FaHmI LDHMILD SITFevorld @ revor(mD &ifl.
SITTE0OTLD FaMMIM @& Fiflwimeot alemd &0

SOHH DG

B) oMM LOMMILD SITI6orlD @) Fevor(hild &Fifl.
&Myeoorld o mMIMH& &iflulmeor ellemgasL0h
sreilsuemev.

Q) oMMl &FIifl. GMTIeOTD Seuml.
D) MMl LOMMILD &MTJeoorld @ Feoor(h LD
SHelml

41. Which statement best explains the evolutionary
advantage of meiosis?

A) Meiosis 1S sexual

reproduction.

necessary  for

B) Genetic recombinations are possible from
generation to generation

C) Meiosis alternates with mitosis from
generation to generation

D) The same genetic system is passed on from
generation to generation

LNeTeuld Snmmisserfley er&Hev Llulm&erdeor

Liifleoor mn (PNERWESHUSGMS
aflend: &R MS?
A) LML @eTlIQUBHESH MG W mEen
SleUF WD
B) 2 &H5H LI BHSI 2HSHSFHSS & &
LJUSDI D 0IGa L 1960606  BlISHLID
STJEOTIOTH M.

Q) WL LITH6N IDMHMILD &60TM6L LIGLILLD
0 SoWwoDWNeha AOSS
SOVWNDES AOSSHSS WMl
P&LE DS

D) 55 DT L] &S 606010 )
Semeu (e mued B H S A0 S5S
FHVLNMMES SLESSLILIGR M.
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42. Colchicine is an inhibitory chemical, which
A) Stops the functioning of centriole
B) Prevents attaching of centromeres with rays
C) Prevents the spindle formation in mitosis

D) Prevents the formation of equatorial plane.

&HTLF & 60T
GauSH LIQLITIHET

6T 60)60T 5H &G0

A) QEaTLflGwmeL ellemerrenl SHSHR M.

B) QEerGrmllwiy @) 60)600TEDY 6L
SOLOFURMSI.

Q) WL LIMTHI6N QF6LLIGLILIN6L 6ruLleoTLg 60
BT &H6T 2 (HUMEHHHMNSD S0
QEWRME.

D) LLD&SH U Cremss aflLomeoTLd

2 (HUMESHEHMS SHOHMSI.

43. Mitotic spindle is mainly composed of which
protein?

A) Actin

B) Myosin

C) Tubulin

D) Myoglobin

MLLTIYS &HT @enpsefley 2 a6
WSS W UIsLd

A) 91,819 60T
B) 6 LOG WM& 60T
C) 19 w,Lyedl ot

D) emCwIm@CermLileor

44. How many mitotic divisions are needed for a

single cell to make 128 cells?
A) 28 B) 32

Q)7 D) 14

12

R(H QI FVeVTETE 128 QFev&HeTTs LNflallsm &
B8 6M6UUITET 6MLOL_L T & QF6VLIGLIL| 86T

A) 28 B) 32

D) 14

45. The fruit fly has 8 chromosomes (2n) in a
each cell. During interphase of mitosis if the
number of chromosomes at G, phase is 8.
What would be number of chromosomes
after S phase?

A)8 B) 16

C) 4 D) 32
LIpLILL & &lu et QFLGeT6L 8
GCITGITGFTDG 6T (2n) 2 GITET60T.
e L Lmerdleiv @ emLBlemevuuilev
G, Blemeuull sl SCrmGLMGF ML

6T600T600T 1&6m & 8 6T6ufleL S Blemeuuiley GUIME
GSCTTCLOMGFITLD 6T6v0T600! 85601852
A) 8 B) 16

04 D) 32

BIOLOGY (ZOOLOGY) Q.No. 46 to 60

46. When you hold your breath which of the
following gas changes in blood would first
lead to the urge to breathe?

A) Falling O, concentration
B) Rising CO, concentration
C) Falling CO, concentration

D) Rising CO, and falling O, Concentration

ROAT  ApFmE BTG 2 dmaflwssel
Bmggin Cursl @UsssHe gHuU@LD
e Ufliommm mlsLheserflev 61a! (N&6516L
FUMTHES Sreoor(hH Ml

A) O, 9L 6| Gemmelg!

B) CO, SiLTey SHSfLILg

C) CO, 2|66 G6emMmeUS

D) CO, 4emey sHsIllug woHmb O,
S|LJ6)| Ge0MelSl
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47. Which one of the following statements about
blood constituents and transport of gases is
most accurate?

A)RBCs Transport O, whereas WBCs
transport CO,

B) RBCstransportO, whereasplasmatransport

only CO,
C) RBCs as well as WBCs transport both O,
and CO,
D) RBCs as well as plasma transport both O,
and CO,
@QUsSsSLILGH QUITIHL_&6T LOMMILD

ey uflorHobd GMES, SLh&snaallD
aUMSEH W RIS 6TIe 618! S LD Fiflulmers?

A) RBCs &&6T O, enerulih, WBC &&6T CO,
6M60TWLD 85L& 515 60T M 60T

B) RBCs &&6T O, emenTwld, Wlemmeuom CO,
6meoT DL (LD 85L& 515 60T 60T

C) RBCs Lommith WBC &&6iT O, mmith CO,
@ JevoTem LU GLD 55L& G155 60T M 60T

D)RBCs wmmih Lermeuom O, WwmMID
CO, 60607 &L &1 60T M6OT.

48. Which of the following substances in tobacco
smoke, damage the gas exchange system?

A) Carbon monoxide and carcinogens
B) Only tar
C) carcinogens and tar

D) nicotine and tar

L|en & L919.8 560 6oTmev
6TIH & LIGILIT(IH6IT GUITU
LD60OTL_6V & B 6tr60T LITH SR M S1?

LD 55 600T L
ufllommm

A) &ITTL6T GLmeTmeHend (h LnMMID LjMm ol
GBITUI &Trevor & 6T

B) &MY LOL(HLD

Q) UM GBITUI &ITJ6eol 186 LDMHMILD ST

D) BI&G&TIQ 60T LDMHMILD ST

13

49. Approximately 70% of CO, absorbed by the
blood will be transported to the lungs

A) As carbonate ions
B) in the form of dissolved gas molecules
C) by binding to RBC

D) As carbamino haemoglobin

QUH555ML 2 MlEh&LILIGILD &LMF 70% CO,
BITUTTLEHEERHE dhSS QF6veulILI(BILD
sl

A) &MTTUGeTL. juleof1&6Tmes

B) &6 JHS QUMW eLO6VEH T MIGHEIT TS

C) RBC wjL_edT L9l 600T 5 Sl

D) smyuUlGeorm @nf@LOmGCermLieormss

50. Which of the following diseases and their
target parts are matched correctly?

[. Emphysema — Nasel lining
II. Asthma — Bronchioles
I11. Hay ever — Alveolar sac

IV. Pleurity — Pleural membrane

AL IV B) LIV

C) U1, IV D) Only IV
QaETH&ESHLULILBETT  &Feumsd  GBITUISET
LMMILD |G sB6enL_ULI UTH SIUMLD
2 milIL|&erfley, Frflwmeor (@) 6 600T60) UL
& 600T L1 &:

. TN &EMUELDIT — BTH Ljmevor]
Il. QLENVSILDIT — PN G+ &G 6M6IT 151 600T (& L6V & 61T
. em6UHCSH TV GIBITUL — SITMHMILIEL
IV. UeBT & - Lj@b 6L Feley
Al IV B) I, IV

O, v D) IV oL (LD
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51. Although much CO, is carried in blood, yet
blood does not become acidic because

A) CO, is continuously diffused through the
tissues and 1s not allowed to accumulate

B) In CO, transport, blood buffers play an
important role

C) CO, is absorbed by the leucocytes

D) CO, combines with water to form H,CO,
which is neutralised by NaCO,

QUS55HL P& CO, HLSHHLILLLTYILD,
@ I5 LD 016V & & 60T60IL0 2 60) L LITEMLO &> (& &
&ITIJ600T LD

A) CO, QFTLIHE H&FsHs6Tev LFe S mel
SLETITEL @)\ 7555 H 60 CFTeUBH) 606tV

B) CO, &L 556060 QIHS HMMHISH (PSS
LUMRISTH0IS S

Q) 9w, B mem &L (H &6ITITeV CcO
2 MEepFILQH M

2

D) CO, BmL6eT @emenib&l H,CO, <&
NaCO, & FLopleneulILIHSSIH M E!.

52. The amount of O, present in 1 gm of
haemoglobin?

A) 20ml B) 1.34 ml

C) 40 ml D) 13.4 ml

Tgm afGLom@GemmLilesflev 2 6iTaT O, 66y
A) 20ml B) 1.34 ml

C) 40 ml D) 13.4 ml

53. When partial pressure of CO, rises, the O,
dissociation curve of haemoglobin at 37°C
will.

A) remain unchanged
B) become irregular
C) Shift towards left

D) Shift towards right

CO, 60T LGS WSS 2 W(@GL QUTWE O,
LN fley euemermey 37°C 6V eT&HI6UTSH @)(H& G LD?

A) LDITMITLOGY [Bl606V ST ([H&HGLD
B) @ MISMHMSTEH @ HESHESLD
Q) @LLUL&SGS&SINTS B IHLD

D) 6U6VLILI&SHI0MS B (HLD

54. The majority of CO, produced by our body
cells is transported to the lungs;

A) dissolved in the blood
B) as bicarbonates
C) as carbonates

D) attached to haemoglobin

BOG 2 LedleL 2 6oTLMGWD / 2 (HeUMGLD
Qu@@UTemeor  CO-, &  mengufyev
QaueflGummiais!

A) QUS5586) &6vbHI)
B) MLl STFLIGETL., 94,5
Q) &MTJUGETL., 9L5

D) @GO MG Cem LI eI L_60T &) 60)600T [H S

55. Increased asthematic attacks in certain
seasons are related to which of the following?

A) eating preserved fruits in tins
B) inhalation of seasonal pollen
C) low temperature

D) hot and humid environment

goUGILD
G LD 55 600T L

Flev LI(H6U &6V IS 61Tl 6V
G GHLIQWITET  SLeNVSILOTT,
6TEUMMIL_ 60T QST L|60)L_UISI?
A) Heveiraserflev 2 6Tem LSLULUMSSLILLL
LILDTBI860) 6T 2_600T 600 & 6V

B) LI(HEUSITV OG5S 86M6IT 2_6iTerfl(Ln & 856V
FOTHEH
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Q) Genm QeuLILIBlemev

D) GeuliLLD LDMHMILD FF T L& LD T60T

GLDBlemev

56. Assertion (A) : 100 ml of blood delivers 5 ml
of O, to tissues in normal conditions

Reason (R): 1 molecule of Hb can bind with
4 molecules of O,

A) Both A and R are true and R is the correct
explanation of A

B) Both A and R are true but, R is not the
correct explanation of A

C) A is true but R is false
D) both A and R are false

gmm : 100 el @usHsd, 5 el O, &
B F 55 6H5 G QULPBIGHMS.

SITJeoorLd : 1 eLPEVGHFa M ICLOMEG CeT L6,
4 PeV&Faml O, 8 Llen6uord s (LALGU|LD.

A) Fam ol LM MmILD & ITIJ600T LD &ifl
MHMILD  STJeorld Famenm SFiflulmss
eGP M.

B) ZmMmmIlD &mpevor(pld  &Fifl  Le0TTeL

SMJeooTld Sammimemer — Fiflwimer
aflemg: 8506V 6V.

Q) Sammi &ifl; &MTyeoord &Heuml

D) oMM LOMMID &TFeoord @) evor(hLD
SHelml

57. Identify the wrong statement with reference
to transport of O,

A) Binding of O, with Hb is mainly related to
partial pressure of O,

B) Partial pressure of CO, can interfere with
O, binding with Hb

C) Higher H+ concentration in alveoli favours
the formation of oxyhaemoglobin

D) Low pCO, in alveoli favours the formation
of oxyhaemoglobin

15

02 HLEH GMIHH HUMITET FonMHMI 61517

A)O, Hb 2o Ler @eeoreug O, UGH
(WG H5 ST QSTLFLIML IS

B)O, Hb 2oL @eneoreuHev pCO,,
genevwWill(H)LD.

Q&mmm  meoreooremmuiley, 2 wm  H-
SLie &l anfGum@GerTmLileor
2 BUMENEHS 2 HF DG

D) &TmHm T51600T600T60) (D LI 6V G6emMm
pCO,, 5 6rd amCLOM&GerT LI 6ot
2 (HUMHNEES 2 FF M.

58. Which of the following is an occupational
respiratory disorders?

A) Anthracis
B) Emphysema
C) Botulism
D) Silicosis

GLp&seorLalmmley 68 QFTH FMibHs
FOUMTEF GenMUTL () Cmmul?

A) 25 BSHTTEI6
B) eTLDEm LIFLOTT
Q) QUL (ReY&FLD
D) Bl @& menileny

59. The chronic respiratory disorder caused
to a person with severe addiction towards
cigarette smoking will be;

A) Emphysema
B) Asthma
C) Respiratory Acidosis

D) Respiratory alkalosis
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L& SHSNEHE — HIGeMDWTET Q@
DefFe&EE gHuU@ BIeTULL &FeUTF
G M6 ITmI:-

A) eTLD&EmUEELDT

B) @L6ngInmm

Q) U 210l6VE 5 6TemL

D) &eUMTF 31,6085 BeVTFI6n

60. Match the workplace with the occupational
respiratory disorders.

Column - 1 Column — 11

a. Cotton industries 1. asbestosis

b. Grinding industries 2. Fibrosis

c. Asbestos industries 3. Asthma

d. Construction sites 4. Silicosis

a b C d
A) 2 - 1 3
B) 1 2 3 -
C) 4 3 2 1
D) 3 2 1 4

16

FUTHF
Fiflwmeor

UeollWILSHDHEHOL,  FMiHS
CHTOTTMIHMET @) 6D600TEHS),
aflenLenl CHIHOSH &&He]LD.

LSS I

a. LUI(h &S 31,601605 6T — 1. 26N Q LI GL_mendlen

UGS |

b. LDGTOTEL {605 G 6V
6D 6V 6T - 2. BTlenp& &L 1 &6t

C. QLENVGEILIENVLITEN

916DY6V 6T - 3. QLENVSILDIT (H6VBITI

1B 01611 60T 61 & 61T)
d. BL(HILOITET HeMmIG6T — 4. F160&CoTH 6

a b C d

A) 2 4 1 3
B) 1 2 3 4
Q 4 3 2 1
D) 3 2 1 4
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